328 Question Help ¥

For the vectors u= (- 1,3) and v= (- 3,2), calculate proj,u and scal, u

iyu={ | e
proju= (| ][ ) ?"J Ju > vectvr Phjfc%-‘dr\
. . v
scal,u= |:
(Type an exact answer, using radicals as needed.) -SCG-\,J:’ =) I(_R-(N‘ rm;e ction
v
)

= [prg,”

- 2
Pt
v

&5 erster to fialk tha feoher purjection first

scal,,Q
> | Hann eh—a . LosP = v o buk wr alse Faw
N
. by e s
> = Wt
(9 Ww:Vv '3 S.Ca-"ﬁu Lﬁse:ml
i Laeiim 3k w
Sced & [V 12| A talag
2.0 <A1y
| Sca.\Ou. = —_l\'?l - TERY
J/ < (785 >




Draw Erase Select Point Add O

tHa yectar prejection PNSGQ 3 the Scalcer pwi jo cbioa S'ca(;,)a trmer &

wnik veetor tn Gha dirteton of ()

Se, pm & e Seol i il
| 3\7 J (v \rl’?: J_lT “113 <-}’Z.>

el



A line [ passes through the point (1,1, —2) and is perpendicular to the plane = +y — 2z = 8. At
what point does this line intersect with the yz-plane?
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3. Which of the following surfaces is NOT represented by any of the equations shown?
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A particle is moving with acceleration

If at time t = 1, the particle has position r(1) = (2, 1, 2), and, at time £ = 0 it has
velocity v(0) = (0, 0, 1), compute |[r(2)|, the magnitude of the position vector at ¢ = 2
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t== Question Help Q

Determine whether the following curve uses arc length as a parameter. If not, find a description that uses arc length as a parameter
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6. The curvature of the curve r(t) =< 9cost.9sint > at t = 7 1S
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7. Evaluate
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12. Find the directional derivative of the function f(z,y,z) = In(1 + 2% + y*® + €°) in the direction
of the vector u = (1,2, 3) at the point P(1,1,0).
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i== Question Help Q

a. Find the linear approximation to the function f at the point (a,b)
b. Use part (a) to estimate the given function value
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